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3. Which equation is equivalent to —{6-x)=24? 9. Preston’s salary before taxes are taken out is p dollars. After taxes are
taken out, Preston's take home salary is ¢ dollars. If p =1.25t what is

A ~B-x=24 Preston's take home salary in terms of his salary before taxes?
ry

B. —~6+x=24 A =073
C. -6+x=-24 B. t=0.8p
D. ~6-x=-24 c o125
B

D. £=1.25-p

6. A company produced 7 ovens in April. In May, the number of ovens the
company produced decreased by 7%. Which expression represents the
number of ovens the company produced in May?

-
=4

Timmy's T-Shirts is having a huge back-to-school sale. All the T-shirts in

A 0.07n the store are currently discounted by 15%. Let ¢ represent the regular

price of any T-shirt in the store. This discount can be represented by the

8. 0.3n expression £ —0.15t. Which expression can also be used to find the sales
price of a T-shirt?

C. 0.83n
A —0.15t

D. 1.07n
8. 0.85t
c. L1st

7. The original price of coffee beans, b, increased by 6% in July. Then in

August, the July price was doubled. The new price can be represented as : D. 1.B5t

2.12bh. Which expression can also be used to find the new price of coffee

beans?

A 24,12k 1. Mr. Hayes owns 22 shares of an energy stock. The purchase price for each share was
$17.35. The current value of each share of stock is $23.50, What is the difference between

B.  2b+0.6 the carrent value and the original purchase price for all 22 shares?

C. 2(b+.12) A $135.30
B.

D 2(b+.06b) §581.70
C. $517.00
D. $898.70

8. Kevin’s savings account had x dollars in it at the beginning of the

month. At the end of the month, there was 4% more money in Kevin's

account. Which expression represents the number of dollars in Kevin's

account at the end of the month?

A 0.04x

B 1.04x

C. x+0.04

D. x+1.04

Williams MS 7 EE1 Study Guide Page3of 7 Williams MS 7 EE1 Study Guide Page4of 7

, €3 schooinet € schoomet



ETLELY |
Lio98bed

1BLOCUDS g

spinD Apmis 133 £ SN SWeli L0 afied oping ApniS 133 Z SIN SWeli

PlL=60+

g o

v:.nmﬂlrm
VIL =61+ %5

PlL=6C— ¥

ﬁx&xmxs

1
et )
a . wxﬁxs

° (=g
;]

[}

|

v

R

v [ < ¥ 0y yuopeambs Y ON st uoissaadxa yprgm .

2N BOSWIGOY INIEP SUNLT JWOY IIITE JO Jaqunu o ¥ puy 03 pasn 3q ued uoyenbo
UOIYAA “SUNI STHOY 1IAXED T/ I WPy Sqry "UoSmGoY ILL NEY) STALL IWOY JIIILI

30 JaquTtu Y3 SIWIY § B 10w 6T I WY aqey ‘Kropsny jeqaseq anSedry Jofep uf g 0sL'98 -a
0s7°¢§ o
[ard S
[4 S < 0sL18 v
6 o 1501 FART NS [ AJUOUI 1PNW MOY “YIBI (SLS 3500 Jerp suayndrued
MU £ SANQG Ays Jf “[o0YIS JaY ur guf INndwiod ¥ 10§ §0S°L$ PIISpNg SeY SHOIN S 4
8 =g
s v 08°0§ PoSByIIpUn SEM AWML, g
£500Q pue suossa| au) uo puads 03 665% ‘00°7$ POSIEYDISA0 SBM AUIIEL, -5
pey ay j 9] JUSPNIS B PINod SUOSS3) JO SYIUOW AUBW MOH "6E$ SIS0D ‘07 1§ PoSieyoIon0 Sem ARy g
3ooq Jeunb v -uow 19d §94$ 10) SU0SSa| 1e3nb BuLayYo S| 2403S JISHW Y 4y “JANOUNE 359000 S1 PASFeyd sem AWUN], v

SANYL st padaeyd

¥8 a SEAL ATIUEB ), JUnews [£30) 913 JNOE JUIWAJE)S YOIYM ‘sagueio g poe sajdde uazop & 1qsnoq
¥9 o Amuse] § YoEa SIRD 0 3% PdLId 2.10M SITLI. (POQ IYSIBL YSED TG} J€ INq “00°ES H0J § IdM
B g sa3uv10 puE (- I§ 20} ¢ 10a sapdde yey pazestpur a103s £103043 & 3¢ Sepdaip dnpord ayy, ¢y
e v
2915UeIna L Y JO YIPIM S STIEIA “Apoo1IOOUY X} S]es SU} PUE WNOSIP 37 Yioq Sjuesardaryf g
JUROISIP Y} J0U g Aj103100 Xe] SIfes SYp sjussarder)f o
B 4T = Jareuiiag X2} Sajes a1 100 10q AAN0 JumoosIp o spuasaxdarly g
WRCISLY v
i=M 2U01553.1dX3 5, X[V SABNIEAD LSTY JISWNBIS YOIgAL
80°0x L0 x09+¢€0x%09
¥e=7
*PACOGINLHS Y JO SABHOP
“)J pT ST MOJAq JBUBIIAL 01 3502 [BUY 3G) 20} AD[IG UOKSSAIAXD 3YY3 JJ0XM X[V “XE}J SIES ¢/, IPM[IUL [JLA 350 [Buy

) Jo wdgoururad ay g, MT+ TC =d sropsue)das g Jo 1wmiiad 33 103 B[nuLIoy 3G, -g;

L, O %6 10} I[ES UO ST PIBOGIIBS L, ‘00°09$ 51 PAeeqareys € 3o ond xemas gy -z,



2. Select all of the equations that are true.

Pick up to 3 answers.

A gr—(lex+)=(~4z-D-3x

B o+ (6-3)=12-2

c. 5 2 1 1

(s -wv,?-wwuﬁwib-ﬁﬂé.

(-81m-2)~(-24m-3=~105m—5
(F-3a)—(4-55)—(6+2a)=~3-32-5

5. Kerry wants to remodel his house by knocking down a wall between two
adjoining, rectangular rooms. On the blueprints, the width of both rooms
is defined by the expression (x+3).

2x+7) 2x—1)

{x+3) ’ x+3)

N, ~

If the length of the first room is {2x+7) and the length of the second

room is {2x—1]. which expression models the area of the new room once
the wall is knocked down?

A BX+12
B. 4x2+18
C. 4x2+13x—4

D. 4x2+18x+18

Williams MS 7 EE1 Study Guide Page7of 7

) schooinet



